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(Physical Quantities)

(measured quantities)

(calculated quantities)

1-1



2-1

.(physical quantity)

Yo % mv?

(basic quantities)
(derived

/ .quantities)

.(1 N=1 kg.m/s?
(SI units) 2-1
(standard unit)
(Systeme SI
(s) (m) International)

(kg)
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0.023%

n n 1960

1983

1/299,792,458
1-1 . 299,792,458
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(length)

1,650,763.73

(86Kr)

(mass)

12C



2-1

1-1

1-1
(Time) -3

24 86,400

(133CS)

9,192,631,1770

2-1
3-1
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1-1

(s) el il &) (amy | (kg) dasshal) B JiSY) ey (m) daghal) & J) skl (any
5x10" 10™ 2x10'

1.4x10" 7x10% 4x10°
1x10" 9%0* 7x10°
6x10° 6x10% 6.4x10°
3x10’ 7x10% 1.7x10°
9x10* 7x10" 9x10°
3x10° 1x107 1.7x10°
8x10™ 1x107 1x107"°
1x107° 2x107% 1x10™
2x107" 9x107! 1x107"

3-1 2-1

(length)

21

1km/h=(1kmx1000k£)/(1hx3600%)=0.278 m/s
m

(Dimensions)

(dimension)

3-1



[L]

3-1

[M] (mass) [T] (time) -[L]
[
V =zr’h
(L] [VI=[LT[L]
n
[V]=[L
1-1
v m  E=1mv’+mgh
h
[M]
[L1/[T]

[LI/[TP?

(L] [L] (L] (L]
M +M Lj=[M M]—
[EI= ][T] [ ][ T 7 [LIFL ][T] + ][T]2

Y2

2-1

s=1vp,t? +vt
o t v s
V2 (
Yo

L ]i%m? H 7]




[L]/[T]

[L]=[L][T] +[L]

(Significant figures) 4-1

16.3 cm +0.1 cm
16,4 cm 16.2 cm
46 cm 4.4 cm 4.5 cm

5 3

4.5£0.1 cm 16.3%0.1 cm
.(16.3 cm)(4.5 cm)=73.35 cm?

.7.3x10! cm?
1.5kg 1500¢
1.50x10° kg 1.5x10° kg

1.5x107 0.0015
1.50x107°
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5-1

105

.28.42 28.4

(Coordinate Systems)

(coordinate system)

(y-axis)

z=+4 m

- (z-axis)

y=——7 m x=+3 m

(x-axis)

23.1+5.32
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(1-1) (Cartesian coordinates)

(x-axis)

(1-1)
(Vectors & Scalars) 6-1
75 kg
-5 °C
.(scalars)
d A
.(vectors)
A A
[(2-1) PQ
A Q P

(1-1) PQO=|PQ|=A=A
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(Vectors Algebra) 7-1
-1
B A
A=B
D B Q
.B A 2-1
%& / Py ( )
A D C
(O 0 : (2-1)
(2-1)
C=-D
-2
() -
A B A
B 7
C
A S~ B A B
(3-1) .(3-1)
3-1
40 km 30 km
C
c B (4-1)
aA , 1 cm 30 km A
3cm A 10 km
(4-1) 4 cm 40 km B
(o] B A A B
abc ac (4-1) .A+B

a_c:VE)2+%2 =5cm
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A .50 km 5 cm c

abc

tand = 2¢ =133 = 9 =53°

ab
(2-1) A+B=B+A
/ 30 km 40 km
R
(5-1) (resultant)
C+D
(5-1)
(3-1) A-B=A+(-B)
A -B B -B
A (7-1) .(6-1)
A B A
B
4—_3 C=A+B B
(6-1) ) -D=B-A D=A-B
B A

(cosine law)

(4-1) | c=yA2 + B2 + 2ABcos 0,5

C B A
C )’ Oap > .B A Oun
B B
B A C
(8-1)

27




7-1

(sine law)
(5-1) A _ B _°©
sine sinf siny
.(8-1) y p «a
4-1
6=120° B=6 A=7 (9-1) D=A-B C=A+B
(o] C=A+B

(4-1)

¢ = {(7)% +(6)% + 2(7)(6)cos 120° = 6.6

:(5-1)

7 6 _ 66
sinag sinf sin60°

(9-1)
sinf=0.79 = [=52°
(9-1) D=A-B
D =J(77 + (6] +2(7)(6)cos 60° =11.3
D
7 6 113
sing, sing, sin60°
sing; =0.54 = a; =32°
( )
Cy C« C

(6-1) c=c,+C,




(10-1)

.(orthogonal coordinate system)

C, =Ccosf « cost9=?x
(7-1) o
C, =Csing « sinf=—2
C
.(y-component) cy (x-component)
(10-1)
(8-1) C=,C:+C]
CU
(9-1) tanf = —
X
Yy
o f (8-1) oy
(7-1)
6 »
> X
Cx
(10-1)
ox 11-1
y (11-1)
6=30°
2 o1+a v :(
300
\' v,
7 — Yb 6 =180°+30° = 210°
(11-1)

29

V,=Vcos@=7cos210°=-6.1
V,=Vsinf =7sin210°=-3.5

Cy Cx

Cx

oxX

(9-1)

(8-1)

5-1

oy




7-1

abc
V,=-6.1
oy
abc
(10-1)

ab

V,=ab=7cos30°=6.1

bc

Vy =bc =7sin30°=3.5

A=A, +A,

B=B, +B,

C=(A,+Ay,)+(B, +By)

C=(A,+By)+(A, +By)

(7-1)

(11-1)

(11-1)
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(11-1)

oxyz

(12-1)

(12-1)

31

15

Cy = A, 18,

Cy = Ay + By
oy ox
0z oy
ox 0z
)
B=nA
n

0oz

oy ox
90°
90°
90°
(12-1)
A
-3
(
)



7-1

.0Z 0y o0x
i
(6-1) Cx
(13-1) C,=C,i
Cx Cx Cx
4.5 C =-4.51
.0x (unit vector) i
k oy J
0z oYy ox D 0z
(14-1) D=D,i+Dyj+D,k
:(scalar or dot product) ( )
B A
(15-1) AB-=c
c
(16-1) c=ABcosb,,
B A B A 6aB
(16-1) (15-1)
(17-1) A.-B = ABcosfl,,

A-B=A(Bcosf,;)=B(Acos8,;)



A Acosb,, A B Bcos,,

BeosO B
9 |\ .(13-1)
Acosh B
(13-1)
(18-1) A.B=B-A
6-1
ki() k() ij() kk () ) ()
(17-1)

ii=iicosg,

6:=0 ii=1
ii=1
(19-1) ii=jj=kk=1
(17-1)

iej=ijcosdij = (1)(1)cos90° =0

(20-1) ij=jk=ki=0
7-1
R-R R=Ri+Rj+Rk
R

RR=(Ri+R j+Rk).(Ri+R,j+RK)
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7-1

RR = R2(i+) + R(j-j) + R*(k-k)
+2R R, (i-j) + 2R, R, (j-k) + 2R, R, (k)

(20-1) (19-1)

(21-1) RR=R’+R’+R’=RRcos(° = R’

(22-1) R=\R!+R}+R:

i R ox R

iR = R, (i) + R, (i-j) + R, (i-K) = iR cos 0,

(1-20) (1-19) =1 R
R
cosOp, = ?x
Ry
(23—1) COS HRy = ?
R
cosfp, = ?Z
V4 ﬂ a Orz 9Ry Orx
- cos” a + cos + cos =1
(24-1) 2 ? p+cos®y

(direction cosines)

B A (21-1)

(25-1) A-B=ABcosf,, =AB, +AB, +AB,

HRx
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8-1

B=i-j+k A=2i+6j-3k

(25-1)
AB=(2)(1)+(6)(-1)+ (-3)(1) = -7 = ABcos 0,5

A=@2+6)?2+(-3)?2 =7

B=+J1P + (12 +(1f =1.7

cosHAB:%:—O.SS = 6,,=125°

: (vector or cross product) ( )
B A
(26-1) AxB-=C
(27-1) C = ABsiné,,,
( ) A
) (
C B A (14-1) ( ) C
0z oy ox
(27-1) (26-1)
(28-1) |AxB|= ABsinf,p
(29-1) AxB=-BxA

35
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7-1

¢
T AxB

BxA
E e~
/ N
\'\c
(14-1) A=A d+A j+Ak
B=B,i+B,j+Bk
i j k
(30-1) AxB=|A, A, A,
B, B, B,
(31-1) AxB=(AyB, —A,By)i+(A;Byx —AxB,)j+(ABy — AyBy)k
9-1
kxi () Jxk () ixj() kxk () ixi () ixi ()
(26-1)
lixi|=iisin0°=0
iXiZij:kxkzo
(32-1) RxR=0

ixj

|ixj|=ijsin90°=1
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ixj

.0Z 0y Ox ji Jj
k
(33-1) kxi=j jxk =i ixj-k
(33-1)
(34-1) ixk=—j Kxj=-i jxi=-k

_iJdk idx

5 (15-1)
(15-1)
(15-1)
10-1
() 6e () 7=RxF () F=3i+j-5k R=2i-4j+k
R

(31-1)

r=RxF=(20-1)i+(3-(-10))j +(2 - (-12))k = 19i + 13j + 14k

F R
|| =|R x F| = RF sin 0,

R=\R?+R] +RZ =4.6
F=\F2+F;+F7 =59

37

()




8-1
721[1)2( +Z’§ +f§ =26.9

Sin G, = é ~0.99 = 0, =82°
(23-1) R

R
cos Op, = ?y =-0.87 = 0, =150°

(Unit Vector)

A=Ad+A j+Ak

Adi+A j+Ak
(35-1) PO W
A a2+ A2 + A2
a A a
R=3i-j+4k
(35-1)
r—E— 3i-j+4j 3 i 1 i+ 4 Kk
R J9+1+16 26 26 V26
.R r
B A (cosine law)

c= \/AZ + B’ +2ABcosb,,
.B A
C=A+B

()

8-1

11-1

12-1

OaB
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cc=(A+B)A+B)=A-A+AB+BA+BB

(17-1)
c¢*=A*+B? +2ABcosb,,
c= \/A2 + B’ +2ABcosb,,
13-1

(sine law)

A B _C

sina  sinf siny

.(15-1) y B«

B C=A+B

CBsina = ABsiny

A C

sina siny

A C=A+B




8-1

2-1
(m) (Length) -
1 Fermi 1F 10° m
1 Angstrom 1A 10" m
1 nanometer 1 nm 10° m
1 micrometer | 1 ym 10° m
1 millimeter 1 mm 102 m
1 centimeter | 1 cm 102 m
1 kilometer 1 km 10” m
(ke) (Mass) -
1 microgram | 1 ug 107 kg
1 milligram 1 mg 107° kg
1 gram lg 107 kg
1 ton 1t 107 kg
(s) (Time)
1 picosecond 1 ps 1072
1 nanosecond 1 ns 107
1 microsecond | 1 us 10°°
1 millisecond 1 ms 107
1 minute 1 min 60
1 hour 1h 3600
3-1
10" | 10 | 10" | 10" | 107 | 10’ [ 10°| 10° | 107 | 107 | 107"
T G M k d c m u n p F
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A+B=B+A

e= \/AQ + B’ +2ABcosé,,
A B C

sing  sinfg  siny
A=A di+A j+Ak A
A= JAZ+ Al + A
cosf,=A, /A n
A.B=ABcosb,,
|AxB|=ABsin6,,

a=A/A A a
.1 g/cm3
.70 km/h
b a x =at? - bt3
.b a

C=-2i+3j B=-5i-12j A=23i-4j

0z oy ox (2,-2,4)
30° 100 m S50 m

( 16-1)

41

1-1
2-1
3-1

5-1
6-1

150 m

7-1



8-1

( 16-1) B A 9-1
( 16-1) CBA 10-1

B(300) 4
B(20) W@om
37° y X 45° 30° y X
53°
C(155)

0
(16-1)
( ) m (17-1) 11-1
.0Y OX oy ox
Y. Yy
N F
X
o » X
&
0
(17-1)
A 17-1) B A 12-1
.B=i-2j A=2i+3j D C D=A-B C=A+B 13-1
10 km 30 km 20 km 14-1
( 37° S ) M 15-1
53° S N
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B 60° 2 A 16-1

A-B A+B . 60° 4
B-A
oy ox B=-4i+3j A=3i+4j 17-1

A-B A+B

6 10 18-1

30°
.B=-i+3j-2k A=3i+4j 19-1
B=0.51+4.5j A=3.2i+1.6j 20-1
xy A (o]
A=3i-2j+k AxBxC) ABxC) Ax(B+C) A.B+C) 21-1

C=2i-3j B = 4k

A=5i+4j-6k 0z A-B+C 22-1
C=4i+3j+2k B=-2i+2j+3k
() () .B=i-2j A=2i+3j 23-1

A-B A+B
AxB (). AB ()
B A 24-1

.AxB
A 25-1
.AxB . 30° B

0z A=3i+j-4k 26-1
B=i+2j-3k A=i+2j+3k 27-1
B=i-2j+3k A=2i+3j+4k 28-1
60° 6B 10 A BxA A.B 29-1
[(ixj)xk ix(jxK) 30-1
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B A A(AxB)=0 31-1

32-1
)C B A A.BxC)=(A.B)xC 33-1
(
B=6i A=3i+3j 34-1
A.B

oy 63° yz A 35-1

ox 48° XZ B

1.4 3.2 AxB AB
AxB B A 36-1
B=C AxB=AxC AB-=AC 37-1

AxB=AxC A.B=A.C

al) slale (ha

(850 236 )

) "algorism"
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